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ENGLISHLANGUAGE

Dizrections (1-8) : Rearrange
the given six sentences/group of

sentences (4), (B). (C), D). [E]asm:g
in a er sequence so

f[‘z;]m a n?gll:jngﬁll paragraph and

then answer the given questions.

{a) A shopkeeper went to the gov-

ernor with the requesi io ex-

empt him from these.

(B} The governor refused and or-

dered him to go to one of the

two nejghbouring districis.

{C) I can't even go to the long

since the Prime Ministeris you

brother! ‘Then go to the other
world’ shouterd the governor.

{D) Butthe sopkeeper refused say-
ing that these two were gov-
erned by the governor's strict
relatives and were unlikely to
relax taxes.

{E) "1 would but your father died
last year,’ said the shopheeper
trembling with fear. The gov-
ernor laughed and ruled more
kindly frem then on.

{F} The governer of the district was
a hard man who continued to
collect taxks from citizens de-

spite times being )

L. Which of the following should
be the SECOND seutence afe
ter the rearrangement?
ma @B
B)C @D
B E

2. Which of the following shoulg
be the PIRST sentence afier
the rearrangement?

(DA (2) B
B¢ {4) D
@F

3. Which of the following should

tb;-the THIRD sentence after
e

the following shoul
* bewmtg;ol{m sentence after
the rearrangement?
{1}B 2 C
(8D (4 E
F
B. {f‘iﬂch of the following shauld
be the SIXTH sentence
after the rearrangement?
(1A (2) B
@8jcC 4D
{5 E

Directions [6-15) : Read the
following stroy carefully and answer
the guestions given below i Cgr-
tain words/phrases have been giv-
en in bold to help you locate them
while answering some of the ques-
tions.

Once there were four young
Brahmins who were disciples of a
learned guru. They spent many
years learning all the scriptures and
all this while their guru always cau-
tioned them to use their kmowledge
prudently. And then one day, they
were ready to leave their teachers’

- hermitage. The four Brahmins were
‘excited that they had completed

thefr learning and were now eager

' to test their skills, As they were go-

Ing through the forest, they saw the
bones of an animal Iying on the
ground. They agreed to compete and
test their learning, The first Brah-

it put the bones together and rec-

reated the skeleton of the dead an-
imal- it was that of a Jion! The 5ec-
ond Brahmin decided to give the

- skeleton flesh, blood and skin, As

the others watched, he created
perfect lion. The third n wa:
the cleverest of them all. He decid-

-ed to breathe life intg the body of

the lon. But the fourth Brak

who was not as clever as the tl)l:li:
ers, felt that they were using theyyr
POWeTs in vain. When the others dig

-Iot pay heed'to what he wag say-

Ing, he climbed up a iree

life to the

{( ICSE-214)

above, as his flend chay
g;;ll;s and sprinkled water on he
uol'.l- AS s001 a8 it came to ].tfe' the
lion sprang up and killed the thy,,
young Brahmins.
8. Which of the following is mp;
nearly the _SAM_E in mwmng
as the word ‘RECREATEL 4
used in the story ?
{1) rebutit  {2] modelled
(3) restarted (4) reclinéd
(5) delighted
7. Which of the following correet.
| lains the phrase, ‘not
l-{e?épto' as used in the strul;'a??
(1) heard - -
(2) attended carefully
(3) withdrew (4) ignored
«(5) cautioned
8. Which of the following is moest
nearly the opposite in meaning
to the word ‘LEARNED" as used

~

s WTS

A

{1) skilled
{3) unknowlegeable
(4) violent -
(5] daydreamer
9, What aspect of the third Brah-
min's gets highlighted through
the story ?
(1) He was very dull
(2) He was coward
(3) He was a true leader
{4) He was charming
{5) He was clever but unaware
of consequence
10. As mentioned in the story, the
third Brahmin gave life to the
lion because .
(A)He wanted to display his
skillg,
(B)he was simply following his
guru’s instrictions.
(C)he was enthusiastic 0
practise his learnings.
1) Only {a) and (C)
(2) Only ()
(3) Only (B) and {C)
(4 only () (5) Only (A
L1. Which of the following is met
Nearly the SAME in meanin®®
as the word ‘HERMITAGE &
used in the story 2

in the story 7
(2) jealous
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. ‘-_,...(1} poverty 12} achool also appropriate in the context of Directions (26-30) : In the fol-

"?g o gg a!msshynﬁa (4) freedom the sentence then *All correct’ 18 Lamgfﬁﬁas ma;em?:m
. your answer. | st cach, fiveward .
s ﬁﬁetiogueﬁru?n be | "16. Accarding to %[1” ed on:. ofwh;% ﬁtatiifebls:rgn%e:;

i propria e sto- Indiais ’ -
(Y o | e I rtter | PO ot e
:\ (1) Always Make Use of Skills mation (3)/ and (e o & & surny day and every-

r'!i ' [2) E'?lu Creative Brahmin tion technology goods. )/ A one at the railway station was (28}

'éf lslﬁh:ayssgve Yo ’ gorrect (5) 1/ for the train to armive In the crowd,

'y edge With are Your Knowl- | 17. Though we have 2 D/ | i11ere were youngsters who were on

b, {4) Thge Most ;ttlel]u]alrs regulated banking system | _ocation. When the train arrived,
1 o gent Disci- chanew'(ﬂil'aremaiﬂ’“’f mryoneggtm.'rhetrammaﬂed

;ﬁl [5) The Brahmins Wh financial activity 13 diverted | o4 started to MOVE An old man

y  mhoashmminesu| s mesled < | i e 15 came,

N {4}{Allcurrect[ ning and cau .

1 :Eir% e following s most} 1o e must fund [1)/ research In seafs A re close to the youngsters.

| i d gl gelfl ene technologles t0 | The yous boy was surprised to sec

to the word ‘EAGER' as Er T8y young 1o fa-
psed in the story ? help us meet (2)/ the hugh | averything and exclaim s I
g Jemand for power in the thef,"Dad.theh'alrlismwiﬂg
(1) amdons  {2) lazy {9/

fy (3) agile : coming 4)/ decade. All correct | er, the yaung boy scre agmlour

! (4) disinterested (5) ‘Dad, the trees are green Es t:g il

¥ (5) satisfied 19. When the Kharif season (1}/ | and run Bac s very fast’ H

in mid June farmers are father said, ‘Yes dear’ an .

&g R

b o

1 nintheby

mongl. SOLVED PAPER-19 |

| MODEL SOIVED BARiR-19

14. Which of the following state-
ments is frue in the context of
the passage 7
(1) All the Brahmins possessed

equal powers |
{2) Not all four Brahmins tru-
ly undersiood the essence
of what their guru had
taught them
Only the first Brahmin was
punished subsequently for
his actions
(4)The guru was fond of the
second Brahmin.
{5) None of the given state-
ments is true
15. As mentioned in the story, the
fourth Brahmin .
{4) was afraid of wild animals.
(Bl knew the conseguences of
his actions.
{C) knew he would not be able
to protect himself.
(1) Only (A)
(2) Only (B)
{3) Both {B) and (C)
(4) Only (C)
(5) Both (4) and ()
" Directions {16-20) : In these

Auestions, sentences with four bold

otde are given. One from four

3

- Worda given in the bold ma:
_ y be -
| :h““"mgly spelt or inappropriate

N the context of the sen
tenice. Find
ot ord which is wrongly spelt
wil o propriate. If sy, that word
Your answer. If all words giv-
W are correctly spelt and

lkely to grow more

(2)/ because of strong (3)/
snport (4)/ from the govern-
ment. All correct (5}

20. The need (1)/ of the our (2)/
for the public (3)/ transport
system in India is massive (4)/
mvestment and new technolo-

gy. All correct (5)
Directions (21-25) : In the fol-
lowing questions, some parts of the
sentences have errors and some are
correct. Find out which part of asen-
tence has an error. The number of
that part is your answer, If a sen-
tence is free from errors. your &n-
swer is (4) i.c. No error.
21. 1 want (1)/ all of you (2)/ to
- remain (8)/ happy for ever. (4)/
No error (5)

22, The king was fond of (1)/ birds
and animals (2)/ and had a
huge bird sanctuary {3)/ in his
kingdom. {4)/ No error (5)

23, Threedays have {1}/ pass since
{2}/ the lon (3])/ devoured the
deer. (4)/ No error. ()

24, The cows know (1}/ that if they
were (2)/ together, no predator

{3)/ could attack them, (4)/ No

25 error (5)
. Mangesh is (1)/ a hard worker
(2)/ and s the sole (3)/ bread

win of th
gy the family. @)/ No er-

Just like a three—year'-OId. he was
watching

young boy sald
to eat applés.’ His father bought hirn

apples. The boy said, ‘Oh an apple
looka ac pretty! I love this colour.’
The groupwaswatchingﬂﬁsbcy
for a {28) and finally asked the boy's
father. ‘Does your son have a prob-
lem? Why is he behaving 80 differ-
ently?' A friend from the group
fun at him and shouted, ‘I think his
son is mad'. The father of the young
boy, with patience, replied, My son
was born blind. Only a few days ago
was he opereted on and now has vi-
sion. Heisseemga]lﬁ-lcsethmgsforr
the first ttme in his life.’ Hearing this,
the ters became very quiet and
[80) to the father and the son.
26. (1) expecting {2) stopping

(3) standing (4) waiting

(5) asking
27. (1) sorrow {2 persuasion

(3) enthusiasm

!__—_—_——___——_-—'—*—:

{4) future
(5) apprehension
8. (1) while  {2) times
(3} long (4) second
(S) joke
20. {ymade (2] shouted
() poked  (4) laughed
50 [S: caught
, assisted (2) a
(3) mcntlnncd[ } apdlogised
Wprayed (6} requested
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3 : 19 e The interest earned by tnvey;. i
& MODEL SOLVED PAPER-19 | 1 0. Tee inter e e ﬁg
1 - Afor twoyears - m™
o QUANTITATIVE APTITUDE (163 2) 53 than the interest earned wl‘?:: llgd[
- 81. Ashopkeeper bought two units the same Sum is investeq 1, [ﬂﬁ
¥ of an artlcle at the same price, 1 5 3 scheme B for the same peripg tl“'1
He sold oné unit at a profit of @mey @Yy If schemes A and B both offe; ,.ggﬂ"
50%. If on selling the second pound {nterest (compound t
unit, hmﬂ?ﬁ:gﬁ o3 zmannmlly] at 30% p.a. ang ﬁﬁ‘
Q — T
. was one-tard of e poft| 56 20%p-a respectely whatwag |
was his overall profit percent? | 39, 3.7x24+5=7+ 7 the sum Invested in each 1
(1) 16 @) 12 1)1585  (2) 1642 scheme ? 3
m 54
(3)8 4) 5 (3) 12432 14 1565.1 {1) Rs. 3600 (2) Rs. 1800 (1
Directions (32-41) ; What will ®) L6 =7 (5) Rs. 1200 i
come in place of the question mark | 40, 7% or(lao+ ?;]_60 4%. From his monthly salary, Shy- ms :
(?) in the given questions? g; ffg @ 25 am invests 15% in a scheme, l§]75‘l
524 2 (5) 30 2504 he pays ag EMI towards a e
.. [’———xl.5 .  pered2 loan and 40% he keeps aside |#% y
9 41. 25.6+ 3.2 = 27+ D for his monthly expenses, Ifthe | 2 ort]
0118 2) 36 ms 2)e remaining Rs. 4800 he keepg | W
@) 3 (@) 81 (3)-8 (4} -6 in his bank account, what Is “m;
(59 B 7 his monthly salary? (i}
33. 20%0f 270 -6 =7 42, In 2 village only 63% of the (1) Rs. 32000 A
(1)18 {2) 9 registered voteé's couldfc?hat (2) Rs. 40000 {5 %
their votes and none of the t
3) 4 @3 (3) Rs, 24000 51, Wha
:5: 2‘!5 ) votes cast were Invalid, Only (4) Rs. 36000 rns
two candidates were contest- {5) Rs. 29000 Mate
ga [2411) 30 ing the eleciorand therespec: | 4g, The heght and base of atii- | (@
g 5] Xo= Hve ratio of the votes received angle are equal to the length
1 1 by them was 4 : 5. If the win- and breadth of a rectangle re- %g
2 2 votes, what is the number of the rectangle is 90m and the |2 VO3
@3 15 33 reglstered voters in the village? difference between its length bets
. @13 @33 (1)3200  (2) 3400 and breadth is 7m, whatisthe | ¢
. , (3)3600  (4) 3160 area of the triangle? (in s | Mat
(553 " a8 fl 23&?0 ?i;atrel thay
e : . A is four times efficient as B, 1) 238 (2) 253 )
35. (?1 x 28=10° (32?%093 B started the work and after 6 (3) 241 @) 257 0y
$22 (8288 - days, A joined him. If the (5) 247 )
& whole work was completed i, | 47+ When 33.75 is subtracted from )
) _ 12 days, in how many days A the three-fifth of a number, it | 5, Sy
s8. (36+Jl_8—x\/§’.+3=? alone can finish the whole Is equal to 45% of the same @
piece of work? number, What is gne third of a
(65 @645 (110 @ 9 the number? W
3)8 ()35 (2) 60 o
4 . @ 12 ) o
@3 @ &6 (3) 25 (4) 72 !
| = ( ®) ; Ell
rections (48-82) ; —— 3
) 74=_ en queslgmm, )+ Study the r°1}°“’mg table and answer the giv: I " {5}
: d by 8 batsmen in 5 matches of the | | X
37.°- B -J&g =24 \% A tourmament ; = [ &
(1) 35 (2) 30 Matches™ C D E .
(3) 45 4) 4 ! SR
(5) 36 ) 44 I 13 - Nz —5— 181 | : u
I s ‘ﬁ%——-— 20 71 - ——%———— I __%?..- 4
S wmgage o |FE e e i )
- R - R § ¥ , —W—Tl o : N
o ICSE-218 W \
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\ e hat is the differsnce between (1) Rs. 16400 (9) 304 {4) 350
!\1‘7‘1, 45. ‘t:thalgﬂumbﬂofmns scored by (2) Rs. 12000 (5) 385
?\ C and D together tn Match I {3) Rs. 12500 60.8 4 4 6 12 <9
A  and that scored by A and E to- (4) Rs. 8000 (1) 32 @) 30
q;i:- in Match Iv? {6) Rs. 16000 (348 4 38
Wt (173 2) 61 BS. The sum of the speed of the (8) 24
?ﬁf 367 @ 71 boat A downstream and the | 61, 1440 ? 48 12 4 2
LY (5) 63 of the hoat B upsiream (1) 640 (2) 960
X 49, The number ofruns scored by 15 27 kn/h. If the speed of boat @720  (4) 240
\ batsman C in Match 11 ts what A in still water is 3 km/h less {5) 540
lf\ percent of the number of runs than that of boat B, what Is | 82. 22 19.7 243 174 7 15.1
% scored by batsman E in Match the respective ratio between the (1) 33.1 ) 285
b e speed of boat A In. still water (3)266  (4) 327
B 1 1 and that of boat B in still wa- (5) 243
sy (2) 6373 fer? (Considering the speed of | 63, 32 ? 52 .88 .152, 252
: 3 current to he constant). (138 () 30
& 1 1 W4:5 ©@2:5 (3) 38 () 32
y @ely (573 32:3 {4 3:5 ) 40
4 {5) 75% 513:4 . e . 84. A walks g'om his lt;;usé atlg
% 56. The ratio between the presen and reaches his office
4 - ﬁ’:’»‘f’aﬂ?}? ngf ;“é’ﬁ;"“ﬁ‘;&i{ ages of Manthan and his minutes Jate. Had his speed
o more than the m.unber%f motheris 3 : 7 respectively and been 7 kmph, he would have
k scored by B in Match 1j? e that betwéen Manthan and his reached office 20 minutes ear-
(1) 42 @3 father 15 5': 1% respectively. ly. What is the distance be-
(3) 24 4 32 ‘What is the respeciive ratio tween A's house and his office?
5) 35 lli’:hvtilm o %Mtdaﬁz f:r o lu;] @) 13
vera g' anthan's mother an - e
ot mt mtll'l:daby bmbgg ther? {3 10'2 {4) 135
MatchHes 1, Il and v? (1)5:7 (2)7:9 B e
“ wyes| - (2 e (3}3:5 (4) 2:3 65. Ruta invested Rs. P in a
5 (3) 67 (4) 73 (5)5:6 scheme offering simple inter-
} (5) 63 ' 87. ‘i‘lhel'e ;hrc :&mde?t;ﬂm i: Et :tm- the Tate b:fw 12% t}; a;nﬁ'
: asg. 1he er o S e difference cen the In-
;o mg ; ;ﬁﬁffﬁg: 16 more than the number of terest earned at the end of
cored by batsman A in boys. If the average weight of three years and that earned at
;[;;he I v d 11 together and the girls in the class is 45 kg the end of five years was Rs.
e L b and the average weight of the 2880, what is the valug of P'?

that scored by batsman D in

matches I and IV together?
M7:12 (2) 13:16
(3)11:18 {4) 13:14
5)11:14

83. Sum of the perimeter of square-
1 and square-2 is 80 cm. Ifthe
side of square-2-is thrée times

that of square-1, what is the [

area of the square-27? (in cm?)
(1) 36 (2) 81
{3) 225 4) 144
{5) 324

84, Raj and Prithvi both start a
business together, in which Raj
invests Rs. x and Prithvi in-
vests Rs. x + 2000. At the end
of one year, the total profit
carned was Rs. 8400, from

overall class (hoys + pirls) is
47.7 kg, what is the average
weight of boys? (in kg)
(1) %1 2) 54
(3) 55 (4) 56
{5) 52
A 750 ml mixture contains
mifk and water in the respec-
tive ratio of 8 : 7. What quan-
tity of milk can be added to the
mixture to get a new mixture
containing milk and water in
the respective ratio of 8 : 5?
(1) 180m! {2) 200 ml
{3} 140m)  (4) 120ml
(5} 160 ml

Directions (39-63) : What will
come In place of the question mark

(1) BOCO
(3) 12000

(5) 18000

On-line Shopping|
BOOES AND MAGAZINES
of Kiran Prakashan
Get books
and magazines of
Kiran Prakashan
at your doorstep easily,
log on our website::

wuw.klranprakashan.com M

(2) 10800
(4) 15000

which Raj's share was Rs. (‘ggmsthe ioilowing number series?
3600. How much had Prithvi . 1) 408 7 2 7@ *?
- invested in the business? (1) (2) 372

#?
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MODEL SOLVED PAPER-19 | p— tom

s - ] , cod od aB !
1 REASONING ONCE’ will be
| (1) PMDF (V] PMB? (4) Only two persons g
i 68. If each consonant in the word (3)NODD (4) PMB tween Q and O be.
i 'FRIEND' }5 changed to the {6} NODF (5) Only three persons gy 1, .

] previous leticr in the English | Directions (71-75): Study the tween @ and J be.
alphabetical sertes and €ach | following information carefully and Directions (76-80) : 1, A
vowel 1 changed to the next | answer the questions given below ® | jpa following questions ,elaﬂea"h of ,{0“
letter in the English alphabet- Eyght persons namely, J, K L. | petween different elements ;sm“hlp # i

4 ical geries, and then the alpha- | a, N, O, Pand g are sitting around in the statements. showm ﬂ]ﬂ
bet so formed are arrangsd in | 5 cirenlar table facing the centre. The statements are f }5lﬁt
! anfllg;l;?abeucal c;rrdgeﬁ-gon!: left | put not necessarily in the same or- | 0 monclusions numbm-gﬁwa;%by ﬁlﬁﬂ
to right, which ow- | der, . I 1 bLed
g will be third from the ight? | o Only three persons sit between gt“,’ef," e e ana msed anthe | s
(1)E 20 N and O. o newer eap |o¥F
- @)J @ o J sits to the immediate right of | * °PGMM amewer (1) 1f both nﬁ;“’sd
.l ()M M. clusions 1 and 1 are trug, {lgpe
' Dircctions 67-68) : Studythe | © X sits second to the right of L. Give answer (2] if neither Cop, | I
i following Information carcfully and | @ X 18 not an immediate neigh- | cjusions I nor I s true. -
d answer the questions given below : bour of M. Give answer (3) if cither Copg. | e
Point 9 s 12 m to the East of @ P 1s neither an immediate | Jusjons I or O is true. on- &"ma‘
cm it }gmt'l‘ts 18 m to the South nejghbour of K nor Q. Give answer (4) if only Concly. 0
T aho s standing at potat 71. Four of the following five are | sion 1 is true. sﬁt‘f
; T, walks 4 m towards East, takes 8 alike in a certain way based on Give answer (5] if only Concly. | 2
et trn and walks 18, She takeg | o Positions in the glven ar- | sion Il is true. unk
aright tum walksfor3n.1 st rangement and so form a | 7 sgatement : gudl
of Fommit V. and staps ﬂp. :vg:lchlstheonemat .BsL<0 ;&>T Jette
; noe to that =
67. In which direction 1s Point T (1} KPN mfg, J group? Conciusions : 0
(1) North-West {5) NOM LB<A ’ "
[g] East 72. How many persons are geated | 77+ Statement : &)
(8) West between K and J, when count- A<B<C=D<E 85, Ha
{9 North ed from the right of K? Conclusions: e
(5) South-West {1) One nclusions ; s
68. How far and in which direction @ (2} Four L A=E mw
1s Point @ with respect to Point 3).Three  (4) Two oILE>A i
w (5) More than four 78. Statements ; b
(1) 7m towards West 73. Who amongst the foll J>UsM>p: (b
(2) 16m towards East represent the Mediam-zggi% Cont el;sio:s P_- U<R<N | ;
(3) 9n towards East bours of K2 L M<N ' S
(4) 15m towards East . MoP © 9.0 I J<pP g
69, .{65111;1;9? ;ov:afi‘lﬂei:;ﬁt& B, C :g} o 4 o.n 79. Statement : (
D and E— each earning a dif- | 74 %Q'N K>L>MzN<O i D
ferent saléry. E earn » Who among the followin Conclusions : g
: 5 more third g sits - tive
then D butess than A. C earns third to the left of Lo LO<K :
j get maxinium salary. Who @ M 80. Sta S,
! ] earns the maximum salary? (5) N- 4 p . Statement : ]
E ]/ WE " @b | 75. Which B2E=A2C>H;C<T :
A 3) Cannat beé determined statementa o o 1 following Corclusions :
Rl | 4B 5)A as per th & true Tegarding Q, LB=T
o JUGS' {5 coded as ‘KTFT* and of the given optign, Directions (81-89) ; Study e
e {1 WHEN' is coded as 'XGDO'. 2 ll?tme ° glswﬂowmg nformation carefully an? ¥
o f In the same code language, m%lstome tmmediate lefy " the questions given below:® )
. ; —_—e—— Sister > the mother of T. T is ¥
SN === (ICSE-218 oIt od o L. 1 &
g S

"~y
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.EJ’ P aDﬂ'- SOLVED PAPER-19 |
¥ ﬁ”; of K. K Is the daughter

i of P

A 1. How is T related to L?
N § {1) Cousin (2) Sister
:%I 4, '- {3) Sister-in-law
\% {4) Cannot be determined
L &y (5)Miece
R, % gz Howis B related to L?
Nﬁs“ (1) Mother
hy

Rek

I‘T

.
ol

1'5; e

b

[T T

#
o
s

]
a

{2) Mother-in-law

(3) Sister-in-law

: (4) Grandmother

g (5) Cannot be determined

83. If K is the mother of X, then
how is X related to P?
(1) Son (2) Grendson
(3) Daughter

Uy, {4) Granddaughter
L) cl

(5) Cannot be determined
g4, In a certain code if ‘'on the day’
iz coded as 'la si ko' and ‘the
) getting day’ is coded as *si i
. la', what is the code for “set-
ting’ in the given code lan-
: guage? (All the codes are two
i letter codes only}
(1) mua - (C ko
(3) si
(4) Either ‘la’ or ko’
(@ la
85. How many such pairs of let-
ters are there in the word
“THINK', each of which has as
meny letters between them in
the word (in both forward and
baclkward directions) as they
have between them in the En-
glish alphabetical series?
{1} More than three
{2) Three (3} Two
{4) None (5) One
Directions (80-90) : The foliow-
ing questions are based on the five
three-digit numbers :
732 617 203 315 638
88. In how many of the given nurl-
bers, the product of the first
and the second digits, is a mul-
tiple of the third diglt?
(1) Two (2) One
{3) Three {4) None
{5) More than three
87. If'17" is added to all the given
numbers, in how many numl-
bers thus formed will the sec-

ond digit be greater than 7?

!

{1} None (2) Three
(3) Ome
(4) More then three
(5) Two '
88. If all the given numbers are ar-
rangcdmdesemdingordm'ﬁwn
left to right, which of the fol-
Jowing will be the sum of the
digits of the number which is

third from the right?
o (2) 12
{3) 17 4 13
5) 14 .

89. If all the digits of the given
numbers are arranged in as-
cending order within the num-
ber, what will be the product of
the first and the third digits of
the highest number thus
formed?
17
(3) 24
5) 14 .

00. If 2’ is added to the first digit
of all even numbers and ‘2’ is
subtracted from the third dig-
it of ali odd numbers, in how
many numbers thus formed
will a digit appear twice?

(1) More than three
(2) One (3) Twa
(4} None (5) Three
Directions (91-85) : Study the
following information carefully and
answer the questions given below :
Seven persons, namely A, B, C,

D, E. F and G visit seven diflerent

restaurants on seven different days

of the same week starling from Mon-
day and ending on Sunday, but not
necessarily in the same order.

G visits a restaurant on Thurs-
day. Only two persons visit between

G and C. Only four persons visit

between C and E. A visits immedi-

ately before E. As mariy persons visit
befween E and D as there are be-
tween A and E. B visits en one of
the days after G but not en Satur-
dﬂb

91. Who amongst the following
visits arestaurant on Tuesday?
(A (21 E
@F (4D
B) B '

92, Which of the following state-
ments Is true about ¥ as per

(2) 18
(4)

(1] Only one I
mtaurant!z‘te:?g‘,ﬂa‘“ a

ar vlsit; a restaurant on
(3) All the piven s
Al d tatements are

(4) C visits a restaurant i

diately before by

{6) Only one person visits be-

tween F and D.

3. As per the given arrangement
C is ralated to Thursday in a
certain way and G is related
to Monday In the same way.
To which of the following is B
related to in the same way?

(1) Saturday (2) Friday
(3) Tuesday (4) Sunday
(5) Wednesday

94. Onwhich of the following days
does D visit a restaurant?
(1) Monday (2) Friday
{3} Saturday (4) Sunday
(5) Wednesday

5. Four of the following five are
alike in a certain way and they
form a group as per the given
arrangement. Which of the fol-
lowing does not belong to that
gmup?
{1) FC
3) DG
{5) AE
Directions (96-100) : Study

the following arrangement careful-

ly and answer the questions given
below :

XSL@BUCHMPBFN3 K&Z

GrRQAYJT#TR8WABY

86. Howmany such leiters arcthere
in the given arrangement each
of which is irhmediately preced:
ed by a number as well as im-
mediately followed by a symbol?
(1) More than three
{2) One {3) None

{4) Two (5) Three
87, If all the numbers are deleted
from the glven arrangement
then which of the following
will be the tenth element from
the right end?
me
(3 &
(5) ¥

gg. Which one of the following will
come in piace of the question-

(2) BF
(4EB

@Y
(4~

the given arragement?

teter——

M

mark (?) in the sequence?
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make
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i
vBs THY Qr& 96 7 EXPLANATION 0 ’
1) %S ([2)M%@ b} = to . sP ofﬁrst&rﬂdczng;.f-aﬂg
S mu (amoL 6. "’m;ﬁ:;” e O existod 1n e o 763?} ’
(5) PU% N are ;‘;’s‘f . 1o rebuilds [13,,] -4
99. How many such symbols gentence =Rs. |30
there in the glyen arrangement, Look ot th:ecteates the glam- - 10
cach of which is tmmediately {  The movie nollywood: 5.p. of second article @
fo}lowedbyanumba‘ande;l;o our of 19408 o oy care: o s
tmmediately preceded by alet- d to = - XN
fmmcdiale 7. () ray deed 1 % Comcbody/ | =R [x X% 100] )
u) One snmething- takﬂ notice Df- .
(2) More than ?-;ee ot 4 (addective) = hav Rs [ 95]
3) Two ) Three Learne . - = R8.
{5; None . mgalotof knowiedge: scholar 10 =
100.Which of the following is the Iy. ¢
efghth to the left of the seven- Unkoowledgeable = not well + Total S.P. = Rs, [-1235. + _?_{t_] g9- €
teenth element from the left informed; wing ee: 10 10 =
end of the given arrangement? Look at the senten : | =
(n s 2 F Chanslkya was a learned mis- =Rs. [g?_x) = Rs. [}_l_x_ :
(@ P M e io 5) |,
(5) % She is very unkmowledgeable 1lx :
==] ANSWERS E about plants. : + Profit = Rs, _[-?-- ] 5.
oun} = a
Lo] 2m] s@ s - @R B ot lives or B |
- 8@ em| 7o| & lived; school =Rs. g |
o6 10.01 1@ ] 1= || 19. (4 Eager (Adjective) = very .
TIETIEE D m‘i exclied by sor X
17.¢49] 168.(9) ] 18.14)] 20.(2) Lock at the sentence : Proﬂtpercent=-2% x100
24| 22.(6) | 28.22)| 24.01) Everyone In the class seemed = 10% . 87
2.4 26.¢0| 22.(3| 281 eager to learn. poEe
2.0 s0.@] sroo| sz ¢ gﬁ‘:m= ]dessﬁnportant i
TNIENECIER Thomo T TE ©5¢ C.P. of each article = Rs. 100
e appropriate word should be S.P. of first article = i
7. s8.@| 90.3)] 0.3 ]| - = second (= next m order of im- S‘P'of dce-Rs.lsn '
a.m| a0l 42| e pertance; size, quality etc.) .P. of second article 38
45.(3)] 46.6)| 47. 0 | 28.(1) :;» (4) Correct spelting 1s : sectors. ° =Rs. [100...32] :
49. (4} 80.[2) | BL (8)| B2.(5) « (8) Correct spelling is : huge = '3
@ s @ 88. ()] 56.(5 1! 19. (4} Correct spelling is ; sy Total S.P, = Rs. {1
61| 62 @f e 640 20-&3% appropriate word shouid Profit percent s
6.09)] 66.09] 6760 e8.0( , - hour. 290 - 200 ;
€9. 4| 70, ‘4] 7L [3} 2. (‘a v](;‘]fiereu BnAdvﬂl'b i-e.. happj_ = [ 200 ) % 100 |
70| 740 [ 75.6) | 76. ) ¥ ever ... should be uged.
e <1 23, (2) The stricture g 20
A @170.65 | 80.(2 Three days have passed (v = 200 % 100=10%
85.0] 66.0) [87.0 | BB 00]| - traecre U5 of Yhe' is super 3. 4 r“ : Y L
m.@} 8.3 | 81.(2) | o2.(1) Cows 1s a plural worg 4P = e x5
93.(3)| 94.(5) | 98. @) | 88, (@) || 23+ (4) Here, bread i
7.1 98.(2 [g0.(5 | manages moneargf.r;' onwho 18 2
. © |100.03 | should be\iseq, 100d ete, = [—-é-.xl _5] =9"=81 ,
__—-—"'—"———-'-——‘-—________"_"—-—-————____________
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e L L L =)

o P= 48 = Ja4xax3
. 243
oy 2.6
% 34 B7?e= (‘§+g] %3
10+18 23
28 _3
%"gi& = 5 --55
"} s8. 617%25=10"-3600
kI = ?x 25 = 10000 ~ 3600
{:’)\} =5400
(LL.‘. =r?=—-25— =258
5‘*]
38. (3]?:(36_+J1'_B><J§) +3
=‘36+33§ng) +3
3axJ' 4xJ6
1"'%"1& 2x3 - 42 =43

37. (1)?- J'- J6& =24
= 7?7-3-8=24
= ?-11=24

iele =B it =7=24+11=35
de=hs il ) 5
rticke 1l ,=2
38. (2)7=37 +23;
] 25 §§_75+53
=8 t2a T 24
| 18 18 1
; =24 =3 "3
99. {3)3.7%x2455=7+7
37x24
=?+7
10 5
=5 17.76=;
o

g = ?=17.76 x 7= 124.32
40. (5) 7% of (140 +6)=7

a1, (1)25.6+8.2227+32
2‘?
= 8=y 32

- 8x32=2"
= Px20x=2"= =28
= ?=8
42. (1) Registered votes In the vil-
]age=x{letl

63x
VQt.es polled = 100

According to the question,
Votes got by the winner
=1120

.5 63x
< 9 * 100
85x

= -I-EE =1120

1120x100
35 = 3200

43. (2) According to the question,
Tame taken by A = xdays
» Time taken by B = 4xdays
y Work done by Bin 12 days’
™ +wm'kdonebyamsdays
=1

=1120

=Xx=

..z;

= o=

= x= 90 days
44. (2)Let the investment in each
- schemebeRs. x.

ClL=p [[1 +%]T - ]

According to the question,

A ) o b))

L4
ﬂ4-450

= P=4 %450 = Rs. 1800

48. (3) Expenses by Shyam

={15 + 25 + 40)% = 808

s Amount deposited in bank
=208

If the monthly salary of Shy-
am be Rs. x, then
20x

E(-)- = 4800 = 'g
= x= Rs, (4800 x 5)
= Rs, 24000

46. (5) Length of rectangle

= xmelre

Breadth = y mefre

According to the question.

2 (x+ y) =90

= x+Yy=45 e 1)
and x-y=7 - (i}
(ler adding equatlons (i) and
i},

2x=45 4+ 7 = 52

=4800

52
== ? = 26 meire

From equation ().

286+ y=4b

= y=45~26= 19 meire
.~ Area of iriangle

1
=37 x base x height

1
—_'2 x19x26

= 247 8. metre
47. {5) Le the number be x.
" According to the question.

3x 9Hx-
=).-E--2O =33.75

12x -~ 9x
=20

Sx
= 29
= 8x=33.75%20

=338.78

=33.75

?_ 140

¢ 100 %78 =7

g ? 7x10x 6

2‘ 1z -30
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83.75 %20 __1__,,_ =3
=Sxs " g =225 = ox+ 2000
295 = Tx=B6x+6000
: —'of225—-§-—-75 = x=Rs. 6000
.’l z imes
48. (1) Total runs scored by C and - x?gg’; Rs, 8000
D in the second match BS. (l]spmdofboat]?omstﬂlwa.
a8l4+96=177 ter = x komph
Total mans scored by A and E 2. Speed of boat A in still wa-
in the fourth match = 39 + 65 ter = (- 3) kmph
=104 Speed of current =y kiph
Required difference According to the question,
=177-104=73 x_y.'.x—3+y=27
498. (4) Required percent = 2x=27+3=30
81 = x= 16 lanph
= Jog X 100=7% = Speed of boat A in still wa-
ter= 15— 3 = 12 kmph
60, (2) Required percent - Required ratio=12: 15
96 - 75 =4:5
= 75 x 100
Manthan's mother 7.
= % X 100 = 28%
Manthan 5
51. (3) Required average Manthan's father ~ 14
g 18+71+117 _ Manthan's mother
3 Manthan's father
220 7 6 5
3 3% %
B82. {5) Required ratio 57. (2) Boys in the class
= (100 + 54) : (88 + 108} 40 1‘6
=154: 196 L20-16 24 .,
=11:14 2 2
B3, (3) Side of square S, = xom, Gils=16+12=28 .
Stde of square S, = 3xcm. Average weight of boys = xkg
According to the question g to the question,
4 (x+3x = 80 * XX 12+ 28 % 46 =47.7 x 40
- = 12x+ 1280=1908
o axe qu = 12x=1908~ 1260=648

& Sxdeofsquaresz =3x
=3x5=15cm.
~ Area of square S, = (15)2
=225 aq. cm.-
84, {4) Raj : Prithvi = x: X+ 2000
Sum of the terms of ratio
_ =Rs. [x+ x+2000)
=Ra. [2x + 2000]
<. Raj's share = 3600

= _%__ x 5400 = 3600

2x + 2000

648
= X= -—- =54 kg,
88. (5)In 750 ml of mixture,

8
Milk = F&' X 750 = 400 m}

Water = 350 ml
Quantity of milk added
=xml
According to the question,
400+x 8
360 5

8
= 400+x=.7 x 850 =560
= x= 560 - 400 = 160 m)

5O. [s)mepattemls
5xl1-1=65-1=4 )
4%x2-1=8~-1=7
7x3-1=221-1=9p
20x4-1=80-1=79

79 x 5-1 =385 -:1=

0. (2) The pattern Is :

1
8x2=4

4%x1=4

a3
4x§=6
6x2=12

12x = = [30]

81. (4) The patterni is :

1440 + 6 = [240]

240+ 5=48
4854 = 12
12+3=4
2:2=2

62. (3} The pattern is :
22-23="19.7
19.7+2x2.3=19.7+ 4.6
=243
24.3-3%x2.3=243-86.9
=174
174+ 4%x2.8=174+82

-
26.6-5x2.3=226.6-115
=15.1

63. (3) The pattern is :

32+2%=32 +4 = [36]

3B+4°=36+16=52
52+6%°=52+36=238
88+82=88+8642152
152 + 1025152 + 100 =252
64. {3) Let the distance be x k-
According ta the question
Difference of time = 16 +20°

36 minutes = 3 hour

60

x!
puiz

t N
N
&N



55. [s)s'l'
_ Principal x Time % Rate
- 100
According to the guestion,
Px12x3 Px12x3
100

100 ~ o0 —2880

= 24P =2880x% 100

2880 x100
24

=Rs. 12000
65. (3)

F R
q - -+
E @

Alphabetical order:

ECEFTMQ

3rd from the right

= P=

2

-

+

m =
-
L
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i\ |Must Read Buy Today

Kiran’s
1 |ONE LINER APPROACH

! |GENERAL KNOWLEDGE

East

SW SE

South

67. (5) Point T is in South~West
direction from Point V,
68. (1) Point @ is 7 metre f0 the
West of Point V.
80. (8 A>E>»D
C>A

C does not get maximuin sal-
ary. Therefore, B earns the

maximum salary.
70. (4)
JuUags —>KT

| M

WHEN—/XG 0

| '::TTT*

Q

71. [3) Except in the group LKG,
in all others first twe persons
are sitting just opposite to
each other and the third per-
son is sitting to the immedi-
ate right of the second person.
In LKQ. the third person is
sitting exactly between the
first two persons.

72. {4) When counted from the
right of K, two persons— O and
M - are sitiing between K and
J.

74. {2) O and @ are immediate
neighbours of K.

74. (1) Clearly, J sits third to the
left of L.

75. (5) K sits to the immediate
right of Q. .'
@ sits second to the right or
sixth to the lefk of N. :
Either one or five persons sit(s)
between @ and O.
J sits just opposite Q. There-
fore, only three persons sit be-
tween J and Q.
76. (1) B<L<O=A>T
Conclusions
I. O>T:True
M. B<A:True
77. (3) A<B<C=DsE
Conclusions
1. A=E:Not True
. E>As Not True
A is either siialler than or
al to E. Therefore, cither

'(:',‘%l:‘lclusiun 1 or Conclusion 11

is true.

78. (4]J>U2M>P
UsRxgN
NzRgUZM

+1
Therefore,
ONCE—>PMBTF
| afl
eull
-1
+1

[ S

J>»U<R
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MOREL sowm 1-%

mml:m_lg "__14,,,_—’//4

L M_sN True
I. J>R;:NotTrue
7. B E>LsxM2N<0O
Conclugions
L. O<K:NotTrue
II. N2L: True
80, (2) BzE=AzC>H;
C<T
BrE=zA>CxT
Conclusions
I. B=T:NotTrue
. B < T: Not True
(82-89) :
T is the daughter of B.
J Is the wife of L.
K iz the mother of L.

81. (3) B is the mother of hoth J

and T-
J ig the wife of L.
T Is the sister of J.

Therefore, T is the sister—in—

Jaw of L.
83. {2) B is the mother of J.
J is the wife of L.

Therefore, B iIs the mother-in-

lawr of L.
88. (4) L is the only son of L
K is also the mother of X.

X 18 the daughter of K.

K is the daughter of P.

Therefore, X is the grand-

daughter of P.
84. (1)

on [BE day] —s[E 3 ko
B setting [Fag] —> 5] ma [

The code for ‘setting’ is 'mu’.

a5, (2)

9 12 11

I N K
Lt ¢

86. 2} 732=7x3 =21
517=5%1=5
203=2x9=18

And, 18=3x6
315=3x1=3
6 8=8x3=13

&7. (1) 732+ 17=749

21.

19
{2) £ visits a rm
Tueaday.

_______________________..—-————"—’—"-l

517 + 17 =534
203 +17 =310 g2. (1) F visits a vestayr, ‘
315+ 17-3352 Sam . «
638+ 17=0 C A restaurang 1
85, (4) Descending arder of NI | iely after F. e,
bers : Two PErsons Visit restancy,,
732:638:517:-3159233 petween F and D,
Third from the right ;—':57 @3. (3) C vieits a restaurans . "
R%umsumﬁ* Sunday and Sunday_3 ’ré
- s'ﬂ‘lursday«
R 237
. ;:133: 157 G visits a restaurant on Thyy, 15
503 = 239 day and Thursday- 3
315= 135 =Monday. e@““’l ouf
639 = 363 B visits a restaurant on iy, ;1 J % e
The highest number = 368 day and Friday - 8 = Tuesdg, - A2
Required product =3 x 8 = 24 ot
0. 522:932 84. (5) D visits a restaurant ¢, ‘.\(a“ﬂbtbaott'
517 = 515 Wednesday- L w‘“‘the ot
293 =>201 08. (4) Except in EB, 18 all othey It o -
315 — 318 thefirstperson vistisavesty,  ¢d¥" st
638 = 8538 rant immediately before th Jest
(91-985) : second person. E visits amg - oun 0
Day “Person taurant three days before B, ce0re: The
Monday A 96. (4) el mﬂe}i
Tuesday = we, !
Wednesday D [ Number | Letter | Symbol | mle adye
‘ihm's;ay - g Such combinations are : Therelore, ®
Saturday ¥ [5L@]:[EBW~| Practice WOl
Sunday c_ includedan
987. (1) According to the queston, the new sequence would be : stratagem o
XL@UCHMPFN*K&ZGr[QjYJ 8 TRWABY questions. §
' | : irmeorah
10th from the right end m
N' {2) r P hi&
. 01)5@
V25755 g5, s,y | [On-line Shopping|. o
AeniBy #miby 7 by 3mEyley BOOKS AND RIAGAZINES | %me s
a +
8—L>Y—Esa—Lr6-E . _ Pril':::
99. (5) [Letter [ Symbol | Number | Get books t Undergy
There is no such combination. and magazinesof |1 Prepy
160.(9) 17th clement from the left Kiran Prakashan | i‘;:ﬂan
8th to the left of Z = P at your doorstep easily, mdqg:
TRICK log on our website: :
Required clement = 17 - 8 5 oy,
= 9th from the left end www. kiranprakashan.com : %
9th from the left end = p %ﬂa . g
aao L - “‘n»g

R —— ™
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